





































Finishing up #4 from yesterday’s packet
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setthedenominatorof the REDUCED
function 0 to findthe verticalasymptotes

ifthedegreeof the numeratorislessthenthedegree
ofthedenominator youhave ahorizontalasymptote at9 0

ifthedegree ofthe numerator is the
degreeof

thedenominator youhave a horizontalasymptoteofy ratiooftheleading
coefficients

ifthe degree ofthenumerator is
greaterthan thedegreeofthedenominator youdon't
have a horizontal asymptote

To findthe X andy intercepts use the

reduced function
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